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3. 	This test booklet contains 180 questions of one mark 
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4. Answer each question by darkening the one correct 

alternative among the four choices on the OMR SHEET 
with blue/black ball point pen. 
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1 ct)le)'.  611(4 171-E-0 I14 41. 4-1q4 t vizaci (0 I 
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Correct way: 1 C  Cs • 0 Tet 	qrwr 1 CD CD` • 0 
Q. No. Alternatives Q. No. ftw-ocr 

Wrong way: I ®® g 0 41eici Ut*-1 I 0 	DC  0 

Student must darkening the right oval only after ensuring 
correct answer on OMR sheet. 	 ' 
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5. 	Disparity in mentioning (SC, ST & PH) in application 
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6. 	Students are not allowed to scratch/ alter/ change out an 
answer once marked on OMR Sheet, by using white 
fluid/ eraser/ blade/ tearing/ wearing or in any other form. 
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'7. 	Separate sheet has been provided for rough work in this 
test booklet 	 ( 

7. 	z. 	col4 $ fq 749-  all*T 4 airdR-4 	igzo ,31t 
t I 

8. 	*Please handover the OMR sheet to the invigilator before 
leaving the Examination Hall. 
*Take all your question booklets with you. 
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9. . Darken completely the ovals of your answers on OMR 

Sheet in the time limit allotted for that particular paper. 
g. 	f4.4itd sori t 	T)-  suRTI f*.Tft. *1 4-14*iii 4 tt, 
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10. Your OMR sheet will be evaluated through electronic 

scanning process. Incomplete and incorrect entries may 
render your OMR sheet invalid. 
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vii-c11 WrOrr 13% u.ur Aftlat 3T 	TT 3TIE1 * A 
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strictly prohibited.. 
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PART - I  

MENTAL ABILITY TEST (MAT) 
-tr4-W 4-4)4qui 'Erftur 

(QUESTION NO. 01 - 90) 
(5aii 1-k9,41 01 - 90) 

The total age of A & B is 12 years more than 
the total age of B & C. C is How many years 
younger than A_ 
1_ 10 	 2. 12 
3_ 11 	 4. 13 

1 	A -4 B 	3TFJ 	 tniT, BBC cb) 31-fg 

TOT 	12 3.11 	1 c11 C, A t 

U)T 1 

1. 10 
	

2. 12 
3. 11 
	

4. 13 

An en-or 2% in excess is made while 2. 
measuring the side of a square. What is the 
percentage of error in the calculated area of 
the square? 
1. 4.04% 	 2. 2.02% 
3. 4% 	 4. 2 

ycl-) c-141 	v T 4)1 fly 45 f TiTizi 2% 

31-n -  4 1ft 	I .\3 --1 041 

rcl..)1c1 	 c-1,17r.d-izr 611? 
1. 4.04% 	 2. 2.02% 
3. 4% 	 4. 2% 

A person walked diagonally across a square 
plot. Approximately, what was the percent 
saved by not walking along the edges? 

	

1. 35% 	 2. 30% 

	

3. 20% 	 4. 25% 

3. yct.) ulf4ff LcP Ufi1cPk 9TH # cPu 4 

ftwr T4eic1l 

c16 f Tc 	4D 1c1 61z11 e) 4 11? 
1. 35% 	 2. 30% 
3. 20% 	 4. 25% 

A bill for 23000 is drawn on 14th July for 5 
months. It is discounted on 5th October at 
10%. What is the Banker's discount? 
1. MO 	 2. 282 
3.290 	 4. ?120 

4. B c,t) 23000 4)1 	T, 14 vr,ril Ohl, 5 Trel 
frly ft  l-- 31-1- 41-11 I 	1cyr) I 4-0 5 31-qq\-4 

ct)) 10% vjfMc tR cr)clILII 4 1'.11 I AM-A 

f -C1)1\t tPt 	 4117? 
1. 260 	 2. 282 
3, 290 	 4. 2120 

The descending order for 6, 
 7 
-, 

3  
-, 

1  - and- 
is: 

- 7 9 5 2 	7 
6 7 3 1 3 

1. ->- >->->- 
7 9 5 2 7 
1 3 6 7 3 

2. - > >-- > - >- 
2 7 7 9 5 
3 1 3 6 7 

3. - >->- > - >- 
5 2 7 7 9 
1 3 6 7 3 

4. - > - > - > - > - 
2 7 7 9 5 

6 	3 1 	3 
7  , 

7  
-9  , -5  , -2  -7 	3T-aR'rer coi-f t : 

6 7 3 1 3 
1. - > - > - > - > - 

7 9 5 2 7 
1 > 3 6 7 3 

2. 
2 7 > 7 > 9 > 5 
3 1 3 6 7 

3. .7.  > - > - > - > 
2 7 7 9 

1 3 6 7 3 
4. - > - > - > - >- 

2 7 7 9 5 

In a class of 30 students, the rank of Sohan 6. 
is 12th from the top. What will be the rank of 
Sohan in the class from bottom? 
1. 20th 	 2. 19th  
3. 22nd 	 4_ 23rd  

	

30 .ftEITRI74) 	# 	 ct)I 'R.-2TM 

	

12-cTif 	1 - a-TT 	a6.-1 
q-qf t? 

1. 20-4f 
3. 22-4i 

2. 19- i 
4. 23cli 
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7. The last day of a century cannot be 	. 7. W-41- 1-11 	icip3.41 --r aTi -IT 
1. Monday 	2. Wednesday 
3. Tuesday 	4. Friday 

-et 6) ‘LIchyll I 
1. 	\LI 41,11,4 	 2. 	AERR 
3. 	41,1e1cIN 	4_ 	qlcli,Z 

8. 21 goats eat as much as 15 cows. How many 

goats eat as much as 35 cows? 

	

1. 49 	 2. 	32 

	

3. 36 	 4. 41 

8.  -i• 21 	Eict,14.41 	kicfrit 	tql ii-w-jt t i' --d-9-1-  

15 'll I cI) f+at .1404i kiott 	i fiWil 

-1 --d---q1- 	35 	III? 14) 
1. 49 	 2. 32 
3. 36 	 4_ 41 

9. A, B and C start at the same time and from 
the same point in the same direction to run 
around a circular stadium. A completes a 
round in 252 seconds, B in 308 seconds and 
C in 198 seconds. After what time will they 
again at the starting point? 
1. 36 minutes 22 seconds 

2. 46 minutes 22 seconds 

36 minutes 12 seconds 

4. 46 minutes 12 seconds 

1. 	36 -149--d 22-

3. 
3. 	36 1H 	12 '146.4  

A, B q C -4 k14-II-1 	il qct-) g) 'WA AR 
-14-11.-1 F4zn-  4 qq7 Ow taWp-I -* 	-itt 

1-4 	-4 	ctc -cle1-11 	1.11,41-4-1).411 	A 	3TENT -cifrZ  
252 tl*Z 4, BA 308 tfeb-14 -d241- CA 
198 -4-2---  4 'T  r$Tri I f ---d--4 *141r1 4 
*161 	--41W mNfhict) -re- 	IR 61? 

2. 	46 -149-d 22 

JPI- c 4. 	46 	12 -4-€1; 

10. In what ratio must rice at 27.10 be mixed with 
rice at 29.20 so that the mixture may be worth 
Z8 per kg? 

	

1. 	5 : 4 	. 	 2. 	4 : 3 

	

3. 	3:2 	 4. 	2 : 1 

10. 27.10 1=k1 4i iiiclei 47) T- .20c1 -cliciel 

t F+--fl-  alvd 4 f46-Rfir AN -arrdfi ThNur 
n uf4.  WA-  0 Aiq? 
1. 5 :4 	 2_ 4 : 3 
3. 3: 2 	 4. 2 : 1 

11. 'X' starts a business with 245,000. 'Y' joins in 
the business after 3 months with 230,000. 
What will be the ratio in which they should 
share the profit at the end of year? 

- 	1. 	1 	: 2 	 2. 	2 : 	1 

	

3. 	1 	:3 	 4. 	3 : 1 

11.  'x' 	 "y' A 245,000 t antipz 	rii-  fit  I 

no,coo -- ii-r4 kil-i -ff-MA 	ql< aim 
4 -zi- 6. -gm' 4 wst *. 31 4 Przi 
31-TM' 4 	ili- 	--r noon -11"? 
1. 	1 : 2 	 2. 2:1 
3. 	1 :.3 	 4_ 	3 : 1 

12.  A tap can fill a tank in 4 hours. After half the 
tank is filled, 	three more similar taps are 
opened. What is the total time taken to fill the 
tank completely? 
1. 3 hours 	 2. 	1 hour 30 minutes 
3. 2 hours 30 minutes 4. 2 hours 

12. ct.) -id, -tN) t 	4 IIIQ 4 TR-o-  t- 1 
3itur t'eu IRA -- .114, 	--iTt 9----N-  -- kili 
-1(-1 31N-  4a. -r4- 	TR I 	cp) TA.  4 
ta fk-d41 \I-14-ILl (14)411? 
1. 	3 EITQ 	2_ 	1 Litil 30 linZ 
3_ 	2 ITTQ' 30 iii-q--d 	4_ 	2 	_ia 

13. A man borrows 220,000 at 10% per annum 
compound Interest. At the end of every year 
he pays Z2000 as part of repayment. How 
much does he still owe after three such 
Installments? 

	

1. 224,000 	2. 215,000 

	

3. 220,000 	4. 210,000 

13. Lct) anff 10% Uraziti ---11%-  GLIM A 
q'IR 220,000 vi 1N Ad-r * 1 1Tcz1- -44 

`)- 31-- 	4 -or uthao 	r+----  cm-  7---dm 
cl) c-I I * I tit. 	?I-ff 1 1--411 4 3T-<TzFTft 
41-q 31111 t ‘iki 14RWaffi kiEll'? t? 

	

1. 224,000 	_ 2. 215,000 

	

3. 220,000 	4. 210,000 
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14. 	A man plants 38,416 trees in his garden and 
want to arrange them so that there must be 
as many as rows as there are trees in each 
row. The number of rows are :- 
1. 194 	 2. 196 
3. 216 	 4. 236  

14. Bch --f41 38,416 	3T1T4 6114 1 14 	 

t 31t3 Tff 	 ct,mi 

u-rf$ 	cbc10 	 6 cc-IN 	

-14 	t I cPc-lk) 4 	t 	ctrft? 
1. 194 	 2. 196 
3. 216 	 4. 236 

15. A man has some hens and cows. It the 
number of heads be 48 & the numbe of feet 
equals to 140, then the number of hens will 
be :- 

	

1. 22 	 2. 24 

	

3. 26 	 4. 20  

15. L  ct) 	z trre Ty4j-fifer 	4ito ti 
Tlf4-  Rit c61 •1'!-c-4 48 6) 3tR' 

140 6) 	Vt-E1)-  Mtr f 	trt? 
1. 22 	 2. 24 
3. 26 	 4. 20 

16. Anil needs 6 hours to type 32 pages on a 
computer and Hina needs 5 hours to type 40 
pages If both of them work together on two 
different computers, how much time is 
needed to type an assignment of 110 pages? 
1. 7 hours 15 minutes 
2. 7 hours 30 minutes 
3. 8 hours 15 minutes 
4. 8 hours 30 minutes  

16. 	chi (-/) 	 32 117 ZT- TT 

14 6 Eft Q-1 4 1c) 	ft7T ct)) 40 

ct) 	14 5 -Eit e14 	t I TIR q)-1 
31-1T-31di-T 2 ch4-1.jt 	ct) 11 

cb14-i 	cl) 110 1r7 Z1-47 c 	14 

fl4-1z4 (1,1411? 

1. 7T 15 Pf-9-- 	2. 7 "Ef.  30 

3. 8 zft 15f4--d 	4. 8 	30 f:49Z 

17. 	How many 3 digit numbers are completely 
divisible by 6? 
1. 146 	 2. 148 
3. 150 	 4. 152  

17. 	 t-q 34-4 qr-i 	1k-c-q1 

t \A) 	1-ctff: 6 t 

	

1.. 146 	 2. 148 

	

3. 150 	 4. 152 

18. Average of 10 numbers is zero. At the most, 
how many numbers may be greater than 
zero. 

	

1. 0 	 2. 1 

	

3. 5 	 4. 9  

18. 10 •1131-  c01 3tkTff774-  tl 31  

31-r f+dt t4T &q4N 	'dcicl) 

7)-  34f4--  6)? 

1 0 	 2. 1 
3 5 	 4.9 

Direction : In question number 19 to 23, find the 
missing term of the series :- 

ffibT: 10-1 *k.94-11 19 t 23 	t 	51fT 

1:1-4 Vci 

19.  

20.  

51 

1. 

3. 

2' 
4-

3 	
4, 

4' 

2-
2 

4 

2-! 
2 

3-
1  

4' 
? 

2. 

4. 

3 

11 
-
2 

-5, 
1. 
3. 

3, ?, 19, 
11 
9 

27 
2. 
4. 

10 
12 

19. 51, 4-
3

, 4, 31-, ? 
2 4 4 

1. 2
2 

4 

	

3.21 	 4. 11  
2 	 2 

20. -5, 3, ?, 19, 27 

	

1. 11 
	

2. 10 

	

3. 9 
	

4. 12 

2. 3 

21. KZ, MY, OX, QW, ? 
1. VS 
	

2. SV 
3. RS 
	

4. SU 

21. KZ, MY, OX, QW, ? 
1. VS 
	

2. SV 
3. RS 
	

4. SU 
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22. 	0.64, ? , 2.16, 3.43, 5.12 
1. 0.81 	 2. 	0.125 
3. 	1.08 	 4. 	1.25 

22. 	0.64, ? , 2.16, 3.43, 5.12 
1. 	0.81 	• 	 2. 	0.125 
3. 	1.08 	 4. 	1.25 

23. 	1, 4, 27, 16, 125, 36, ? 
1. 64 	 2. 343 
3. 49 	 4. 81 

23. 	1, 4, 27, 16, 125, 36, ? 
1. 64 	 2. 343 
3. 49 	 4. 81 

Direction :- In qustion numberr 24 to 26, find the 
incorrect term :- 

i :- TM.  *kW 24 t 26 4 +I cid tr4 

4ffrvl :- 
2 4. 	1. 67 	 2. 43 

	

3. 51 	 4. 29 
24. 	1. 67 	 2. 43 

	

3. 51 	 4. 29 

25. 	1. 	126 	 2. 	168 

	

3. 189 	 4. 237 
25. 	1. 	126 	 2. 	168 

	

3. 189 	 4. 237 

26. 	1. 125 	 2. 	144 

	

3. 225 	 4. 361 
26. 1. 	125 	 2. 	144 

	

3. 225 	 4. 361 

Direction :- In question number 27 to 29, find the 
missing term: 

:- i•R-1 *kg11 27 ti 29 4 qtc1 1:14 wild 

Llr'-q :- 

27.  6 5 10 45 7 27. 6 5 10 4 5 7 
2® 

 
3© 

8 0 2® 3 0 8 0 

	

1. 28 	 2. 	8 

	

3. 	18 	 4. 	10 
• 1. 	28 	 2. 	8 

3.18 	 4. 	10 

28. 4 3 5 12 ? 8 28. 4. 3 5 12 ? 8 

[5 13 10 5 13 10 

	

1. 	19 	 2. 36 

	

3.6 	 4.5 

	

1. 	19 	 2. 36 

	

3.6 	 4.5 

29. 4 7 2 5 4 1 6 5 3 29. 4 7 2 5 4 1 6 5 3 

? 70 98 ? 70 98 

	

1. 69 	 2. 56 

	

3. 91 	 4. 52 

	

1. 69 	 2. 56 

	

3. 91 	 4. 52 

Direction :- In question number 30 to 34, find the 

missing term of the series :- 	 • 

fkbr :- ilk-I 1-1tV-11 30 t 34 A' 50TFT * c1 c1 

11-.  ---). quo - "tr'q :- 

30. 	M, N, P, S, W, ? 
1. Z 	 2. 	13 
3. Y 	 4. X 

30. 	M, N, P, S, W, ? 
1. 	Z 	 2. 	13 
3. Y 	 4. X 

hg 	f 	e 
31. 	, -, 	„ ? 

-GI -KM 
 

	

1. 	
d 	

2. 	
o 

-N 	 D 
dc 

	

3. 	 4. 
0 	 N 	 , 

31. 	hg 	f 	e  
G' 

I, 

o 

	

1. 	
d 	

2. 
--ND 
d  

	

3. 	 4. 
. 	0 	 N 
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32. 6.4, 12.5, 21.6, 34.3, ? 
1. 	72.9 	 2. 	5.12 

	

3. 71.2 	 4. 	51.2 

32. 6.4, 12.5, 21.6, 34.3, ? 

	

1. 	72.9 	 2. 	5.12 

	

3. 	71.2 	 4. 	51.2 

33. 2, 11, 29, 56, 92, ? 

	

1. 	137 	 2. • 127 

	

3. 170 	 4. 	117 

33.  2, 11, 29, 56, 92, ? 

	

1. 	137 	 2. 	127 

	

3. 	170 	 4. 	117 

34.  5, 12, 26, 47, 75, ? 	. 
1. 	140 	 2. 	110 
3. 240 	 4. 150 

34. 5, 12, 26, 47, 75, ? 

	

1. 	140 	 2. 	110 

	

3. 240 	 4. 150 

35. In the given figure, X equals 
L 

0 
a 

X 
/6° 

to 	• 35. "X" -Ic47 IN ft 	4 	TT .11+-I 	 t1 
L 

0 
a 

i
46° K E-- b -->iNE--- c--> 

ab 	 ac 1 

	

	 2. . 

E- b --).N÷--- 

ab 	 ac 
a+c 	 a + b 

ab ac 	 4. 3. 

. 1 	 2. 
a + c 	 a + b 
ac 	 ab 

3. 	 4. 
b + c 	 b + c b + c 	 b + c 

36. In the given figure, 
circle and LOQP = 35°, 
LQOR ? 

1. 120° 

2. 100° 
Q 3. 200° 

4. 260° 

0 be the centre of the 
LORP = 15° what is 

P 

36. R 	n 	fr A o 	IT! col ct\-;q t 
LOQP = 35°, ZORP = 15° clEf LQOR chl 
1-II-1 4-ar 614ii? 	 P 

35* O  15 A, 
R 

4. 260°  

1. 120° 	' 

2. 100° 

3. 200° 	 % Q . R 

37. The value of 'X' in the given figure is :- 

1. 95° 

2. 85° 	111° 

3. 75° 	 164° 

37. 'x' Rm. -TT 	-I .  4 	TT Tim t :- 

1. 95° 

2. 85° 	111° 

3. 75° 	 164° 

4. 69° 	 x 
4. 69° 	 x 

38. Find the odd one out :- 
5, 6, 14, 45, 185, 925, 5556 
t 5556 	 2. 925 
3. 185 	 4. 6 

38. ftl---  .t1&.11 	cr)) 	dia :- 
5, 6, 14, 45, 185, 925, 5556 
1. 5556 	 2. 925 
3. 185 	 4. 6 

39. Today is Monday. After 61 days, it will be : 
1. Sunday 	 2. Saturday 
3. Friday 	 4. Monday 

39. 'd)I-  3TM • .1)4-1clk * 	61 	R-I .41-4 41-1 T1-I 
.1 	6 +II 	:- 

1. 	-R-ft4R 	 2. 	YIf. UR 
3. 	VinIN 	4. 	\Li +-Icik 

40. Find the odd term : 
1. Agra 	 2. Jaipur 
3. Chennai 	4. Guwahati 

40. 31-#11d/i 41 tT 	viici 	ct.) 	: 
1 	3T1TRT 	 2. 	.z17 
3. 	.^-ii 	 4. 	-417T-6Ter 
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41. If 'SHOP' is coded as 'TUIJPQQR'. How 
`GOAT' be coded? 
1. HIPQBCUV 	2. HIPQBCUW 
3. HIRSBCUV 	4. HISTUVBC 

41. 41 	'SHOP' •-)- `TUIJPQQR.  t 	-1-fti f5T 

717:1T 	It \itll cN6 'GOAT' 
1. HIPQBCUV 
3. HIRSBCUV 

2. HIPQBCUW 
4. HISTUVBC 

T)itU Oil? 

. 
42. In certain code 'ie be pee' means 'roses are 

blue', sik hee' means 'red flowers' and `pee 
mit hee' means 'flowers are vegetables'. How 
is 'red' written in that code? 
1. 	hee 	• 	 2. 	sik 
3. be 	 4. mit 

42.  FM -44 'ie be pee' 51- 

sik hee' 5T 31.0 'red 

hee' WE 3TO 'flowers 

ftt.  Fdt-Ef 	--).1tff 

31-0 'roses are blue', 

flowers' 3tYR.  'pee 

are vegetables' * 

mit 

I 3-#1.  ft-ff'4-117.1.  # 'red' 

2. 	sik 
4. mit 

co)*trra-ur \ytN 4 it? 

1. hee 
3. be 

43.  Read the following information carefully and 
answer the questions which follows :- 
'A - B' means 'A is father of B' 
`A + B' means 'A is daughter of B' 
`A '.- B' means 'A is son of B'  
`A x B' means 'A is wife of B' 
Which one of the following means "P is 
grandson of S"? 
1. P+Q-S 	 2. P÷QxS 
3. P -:- Q + S 	4. PxQ÷S 

• 

43. 74 3N T.1,  77 

, 

t 	 . 

frdT ts 

tr 4 t4 TF9T co afTT:&• 

m•-i Th-T \1-c-K 	24R 

'A - B' Th-T 3TO 'A, B 

A + B 	1-  3T 	A, ''*- O 	' 

O 'A ÷ B' Thl 3T 	'A, 

'A )(13- 1-  3TO 'A, E3 . 1 

, ti'  

5T 

B cm 

B TT 

cf) t 
t 

LIA 

'P, 	S' P14--i A lt-TE cot 3T2f 

t? 
1. P+Q-S 
3. P =:- Q + S 

2. P±QxS 
4. PxQ+S 

M-1 -1c1H-11 WO 

44. In this question a letter-series is given in 
which some letters are missing. Find the 
correct alternative. 
ba 	abab 	b 	ba 	aba 
1. abab 	2. aabb 	3. baab 	4. bbaa 

44. 3-Ta-TR• - f47 4 N WZ9-  # c-1-) 

TI-61' 

er 

VI-M # TIT 

3TaN 	4 11z4G1 	t I fa-th-- 1 -T 	•1:-R9-4 

4. bbaa 

3TaTR-- s'fF VI 

ba 	abab 	b 	ba 
1. abab 	2. aabb 

ui N I 
aba 

3. baab 

45. Find the odd one out 
1. Gourd 	 2. 	Brinjal 
3. Cucumber 	4. Papaya 

45. 

4. 

ft-Eiff cp 

1. 	1-4-  2. 

3. 	417I 1:111-M 

46. Find the number of times that the hands (hour 
and minute) of a clock make an angle of 180° 
in 24 hours. 
1. 44 	2. 22 	3. 24 	4. 48 

46. 4 24 ITO 4 Eit 

3. 

441 ( 	ftr9-z 
cb1) f' ---fft.  GIK 180°  

1. 	44 	2. 	22 

- "-T --IDT q--fet t I 

24 	4. 	48 

47. Find the odd one out 
1. Sky-stars 
2. Moon-planets 
3. Stadium-Players 
4.University-students 

47. ct)) f 	fli "R).  ftERT gfrd7 

2. 

4. 

1. 	31-rwrzr-oi z1.- 91-4,1 

3. 	,-alqi-i-r114 

ic11411e-H.1--16 

48. In the given question select the related letter 
from the given alternatives 
TALE : LATE : : 	? 	: CAFE 
1. FACE 	 2. CAFE 
3. CEFA 	 4. FEAC 

48. #3-4 cf79.  A ft 7•17 Rct-)Q4-4 

? 
• 2. 

4. 

: CAFE 
CAFE 
FEAC 

T4-4•WM 3T17 

f4m-----cr col 
TALE :LATE : : 
1. FACE 
3. CEFA 

49. Select the missing number 
matrix 
1. 43 

2. 42 

3. 33 

4. 32 

from the given 49. 4 14 .41t4Ti tr 
1. 43 

2. 42 

3. 33 

4. 32 

qt-c1 	't-kg-11 Th-T 	--E1-9- 	cr) .  

. 

5 2 4 
5 2 4 

4 4 7 
4 4 7 

2 5 3 
2 5 3 

18 30 ? 
18 30 ? 
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50. 	A series is given with one term missing. I50. 
Choose the correct alternative from the given 
ones that will complete the series 
30, p2, 189, 760. ? 
1. 3306 	 2. 	1157 
3. 2185 	 4. 3805 

41 	q51 	4 1 	y.q ri 1 # Lc 	*NY-II 	4.IN-16.1 t I 
fq.-  4  icr 	clta-3- 	14 t 	4) 	-i-let ff-t---zr -117 
in.  ,4-,ar 	̀1'1 	Tn. 	̀l-) 	I 

30, 62, 189, 760, ? 
1. 	3306 	 2. 	1157 
3. 2185 	 4. 3805 

51. 	If letters 	of the 	word 	'POWERFUL' 	are 
arranged as they appear in English alphabet; 
the position of how many letters will remain 
unchanged after rearrangement. 
1. 	None 	 2. 	1 
3. 2 	 4. 	3 

51. 	-qi:- 	'POWERFUL' 7T-- 	31a-it 	cr,l 	30-41- 
cluil-iiril 	-Zi-- 	ci-,l 	-5-1=1" &TM-  7ur ,-iN 	cil 
-T4 3Tait 	W4=1 # q)) .  LiRcici-i -9-if 6)4i 1 

	

1. 	kC,  t 	-ef. 	2. 	1 

	

3. 	2 	 4. 	3 

52. 	If P denotes ÷, Q denotes X, R denotes + and 
S denotes - , then 18 Q 12 P 4 R 5 S 6 = ? 
1. 	51 	2. 	57 	3. 	53 	4. 	95 

52. 7-1.ft P cbi 30 1+1, Q V 3T? 'X', R 4)1 30 
'+' 	2-1-1-  S 	0)1 	30 '-' 	6) 	cI) 
18 Q 12 P 4 R 5 S 6 = ? 
1. 51 	2. 	57 	3. 	53 	4. 	95  

53. Arrange the following words in a meaningful 
ord ,TAT 
(A) Andhra pradesh 	(B) Universe 
(C) Tirupati 	(D) World 
(E) 	India 
1. AECBD 	 2. BACED 
3. CAEDB 	 4. EDBAC 

53. 	lc-1 ,f -gi--- 	cr)) 	3' 	u 	s1i 14 uq--4-ft-21-ff 	cl-, 

(A) 	3-1-F 	 (B) 	P16-1Iu 
 

f 	 fr'd7q (C) 	R)-- 	 (D)  
(E) 	'4-iNci 
1. AECBD 	 2. BACED 
3. CAEDB 	 4. EDBAC 

54. 	What will come in place of '?' in the following 
series LA, UJ, YI, EG, ? 
1. ZH 	 2. 	IB 
3. NR 	 4. QH 

'?' 54. 	---2A-m t 	cl--;).-1 Tif Ts9----- 	ffig-  311 	TT 
LA, UJ, YI, EG, ? 
1. 	ZH 	 2. 	IB 
3. NR 	 4. QH 

55. 	Which of the following diagrams is the best 
representation of the relation between men, 
fathers and teachers? 

1. ea2. orp 
Is 	 ..) 

3. 	 4. 

55. 	ft1==f 31FTffErl- -4 col-1.ti3I 	3Trelz1, 

f4ff-1.31) 	3.1 - 	ftai '-'-1- 	\91-Ei-U 	ct)). 	•1 c-II -F 

oo 	T 	-t? 

1. a 	o 0 
op 	2 	0 

3. 	 4. 

56. 	Soumya's 	position 	in 	a 	row is 	13th from 
beginning and 20th from last. How many total 
students are there in the row? 
1. 	32 	 2. 	33 
3. 31 	 4. 34 

56. 	yct-, ig-f4ff # TATzlj c61 R-9-1-1 	-T-R-1,41-  f 1341 

- 3T1 t 2041  t I "cnff 14 ci2c1 1 --T-4 

-aT4 fa 	-t?  
1. 	32 	 2. 	33 
	3. 31 	4. 	34  

Directions for question no. 57 and 58 four words 
are given in each question. If they are arranged 
alphabetically as in a dictionary, which one of 
them will come in the last. 

-1A---& . 	-4 m.-i 	1I 	1i 57 	58 i. 	Th---u 	.-i 
,IN  -gr-. r47 TN- * I za \i, 	ciukor -- st;ii 4 
z.._. 	14.471,4 	eijimi 	.w . 	f__ii. 	mci)k 	164szt.Aui 	1 
v141 Izi I 	v11 cl 1 	t t 	\96i i) 	31---  A -el-ff 	1T 3TT 
3TTITTIT I 

57. 1. Sports 	 2. Sponsor 	J57. 
3. Sporadic 	4. Spongy 

1. Sports 	 2. Sponsor 
3. Sporadic 	4. Spongy 

58. 1. Repair 	 2. Reprimand 
3. 	Repatriate 	4. 	Repelling 

58. 	1. Repair 	 2. Reprimand 
3. Repatriate 	4. 	Repelling 
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3 0 5 0 0 3 O 
1. 35 
3. 29 

2. 37 
4. 31 

2 	4 
2 	4 

O 
3 e 5 0 0 3 

	

1. 35 	 2. 37 

	

3. 29 	 4. 31 

59. 'A' completes a work 50% faster than 13'. 
How slower is 'B' than 'A'? 

1. 50% 1 2. 33 -% 
3 

4. 34% 

60. If A=2B, i B c then C = ?A. Find the 

number which is best suitable, at the place of 
question mark (?) 

1. 6 	2. 5 	3. _ 	4. 

	

6 	5 

59. 'A' f 	4)19 	* gem! it 50% Alf 

t1qi ct?cll 	B3 cOln (41) AC qo-ti 
A it-uffr th-4 
1. 50% 	 2. 33

3 

3. 33 2 % 	 4. 34% 
3 

60. LIR A=2B, L g= Cch C= ?A I M.-1c11-cich 
3 

- -21-1--q IF 3114 qr-A \34Nctv1 

*itsz11 - 

1. 6 	2. 5 	3. 1 1 4. 

3. 33 = % 
3 

6 	5 
61. 	In the following alphabetic series find next 

alphabet. 
B, E, J, Q, ? 
1. A 	• 	 2. X 
3. Z 	 4. Y 

61. 	ciu14-neil Oft # 3Tr cimi 31 1aT 	 
61411 --- 
B, E, J, Q, ? 
1. A 
	

2. X 
3. Z 
	

4. Y 
62. 	A man initially faces North direction. He first 

revolves 3 L revolutions clockwise and 
2 

then. 4 	revolutions anticlockwise. Which 
4 

direction is he facing now? 
1. East 	 2. West 
3. North 	 4. South 

62. 	v:rf4u 	-R-vri c 31 	 

t 1 (46 tf-6-- 3 1 -el etel)'?- Eft 4 	fon 
2 

ct?(11 	 61K 4 1 tictelr? 
4 

'Erli 4 ftzrir 	Rq&-i 	cfr<or t 3T4 
.3\9coi 	 1~t 	III  

1. Lk1 	 2. "c0-441 

3. \ITH 	 4. "d&T 

63. 	In the given figure a pattern is followed to 
insert the numbers in the circles. Find the 
missing number. 

63. 	hi 311TftzlI A 1-oI 	\i-icgaN 
ct) 	r ar@RTR-ur fir 4Iqf 1 

*itq41 (?) ,id cps?) 

64. If the day before yesterday was Saturday 

what day will fall on the day after tomarrow? 

64. Trft 41a 	 coo 	i-1 6d1 R-1 iRciN qr 
30. elle) et)d tr 34-Tim R--1 col.i Tit 

6 411 

1. Y1shgN 

3. rd--1"R 

2. ctlt-tacir? 

4. linden'? 

1. Friday 
	

2. Thursday 

3. Sunday 
	

4. Tuesday 

65. A word is followed by four other words one of 
which cannot be formed by using the letters 
of the given word. Find that word. 
PHOTOSYNTHETIC 
1. PHOSE 	 2. SCENT 
3. PRONE 	 4. COTTON 

65. Bch 	 1.s<k 1T 
co) -1'47 Ti7  	quil 

flcocii .3*1 i.s< 	 col T4-4i 
PHOTOSYNTHETIC 
1. PHOSE 
	

2. SCENT 
3. PRONE 
	

4. COTTON 
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Ftfs.06az,  

66_ 	Find the missing figure in the series from the 
given answer figures. 

66. 	f*.f 	-Lrit # 'TT( 3, 	r, \3-k1 	311-074 

A: t.  
Question lure

m •-i 3ITEM7ii 

lit.' II  ? 
4-1 *-B I I 	? 

Answer figure 
\ITN 31-r-T-Wt 

(1) (2) 	(3) (4) 
(1) (2) (3) (4) 

67_ 	In the 
figure 
questions 
Question 

following questions 
will come next in 

series. 
figures 

which answer 
the 	series 	of 

67. 14--1 yR 
,,,fit 

-I A \3-c-k 34-7ft-En-  14 t cpl-i tt 

61411 I 

y1  '1 	31-re -4 34-4-rt 	31-r-T-M- 

W -i 3Tred-zrt 

. . oX 
? x .0 c\`. 

Answer figure 
.3-c -k arr-T-ftzif . x x 

0 . >. X X > 
(1) (2) (3) (4) 

(1) (2) (3) (4) 

68_ Select 
Question 

the related 
figures 

figure from answer figures. 68.  ‘3-c-k 	311-Tft41.  -R). 	ii-  TI1Vciff 

3ff-5  -) I 

-9---  : ) (0  :: ----} : ? 
M 

 .
-1 3TITitzri 

Answer figure 
‘3-c1'< 311--frazrr 

X e)( )( 
)( DC )( 

(1) (2) (3) (4) 
(1) (2) (3) (4) 

69_ Select 
figure_ 
Questions 

the related 

Figure 

figure from the answer 69.  3-c-N 	3-yr-fitzlI -4 f-11- .R4 *14-,,,,K,,_-, 

3f It 1-° I 
54.-I NT -pit 

1 : si"  
: ,s1 :: : ? 

Answer figure .3-(-N3T-T-f'd-zrr 

(1) 	(2) 	(3) 	(4) (1) 	(2) 	(3) 	(4) 
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70. 	In the following question select the figure. 
Which is different from the other figures. 

--1 70. 	114-I mq-f if viii 311-Tra 	ipifeqQr tzir 
1H 3IFT-ft-41-  ti M -I t-  

IN ES v .  . : : P* 41 -' : ,' . 
(1)  (2) (3) (4) (1) (2) (3) (4) 

71. 	Which 

mirror image 

is hold at 

Question 

of the 

PQ? 

figure 

of 

answer 

the given 

. 

figure 

figure 

is exactly the 

when mirror 
71. qR PQ A pt 	c4u A 41-  gi 

3ITTIf -wr mW44-4 \ix-1,4 -11 augaza il 
-Off WE 6I I? 
Mq--1 airedzir 

• 

P Q 
Answer figure \3-k-i 	&F-T-ft-zri - , 

CS IC) 
(1) (2) (3) (4) (1) (2) (3) (4) 

72.  
the 
Which 

mirror 
mirror is 
Question 

one 

placed 
figure 

of 
image 

the 

at 
of 
MX. 

answer 
the question 

figures 
figure 

is exactly 
when 

4)  

72. ziR MX  IN 44'4 eqi t t rcpt  airedill 
14 t clAi A-  aTr-T-ft 31-4q aTirea 01 

TTK4ff 
m1R 4-61 

31'z'1dzrr 
41 

m4 
Answer figures 

►X 
fp W 

kiTK affedzfr . 

11  II  

. . I . 

1 . II) 
( 1 ) (2) (3) (4) 

(1) (2) (3) (4) 

73. 
in 
Find the 

which 
Question 

the 
given 

figure 
question 

answer figure, 
figure is 

select 
hidden. 

the one 73. ‘i-c-N 311-TIW/ti -4 ti- -4-g-  awea vi) .fi1 
--1 3TITIA ylit  §4 t 
.-1 3Tr-TIA41- 

I- 
1 I 

1-- L 
J 

Answer figures 
i-k-i,  &IOW 

• I  - ii 	1 _ .. 7 1 . 
x Mill - , IMO X 

- . i \ 

I 
II 111 

( 1 ) 	 (2) 	(3) 	(4) 
(1) 	(2) 	(3) 	(4) 
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74. 	Arrange the following figures in a progressive 
sequential order indicate the correct order 
from the given responses. 

74.- 	-ftif 	3-TFT-ftz1 	cf)) 	-1c1(-1 	3 -crir 	17171 # 
()MR) § 	RTr -1: Wz:f 

AA 	 
0 	C.) 
	 AA 

• • 
	 A4   	 AA 

0 	0 AA  	 

	

   AA 4* AA 
A 

1. DBCA 
3. DCAB 

B C 
2. DBAC 
4. CABD 

D A 
1. DBCA 
3. DCAB 

B 	C 	D 
2. DBAC 
4. CABD 

75. 	Which figure is different from the rest? 75.. 	c0-1 •-1) 3rr-T-10-  lti 3fr-fraz'i fi t 1 
V 	v 
V 	V 

A 
A 

V 	V 
A 	A 

> 	> 
> 	>' 

V 	VA 
VVA 

AV 
AA 

V 
A> 

> 
> 

(1) (2) (3) (4) (1) 	(2) (3) 	(4) 

76. 	Select the 
alternatives. 
Questions 

related 

Figure 

figure from the given 76. 	\i-c-k 3TTedzI -4 t Tilif4-1-d-  3-m5-1) I 
"Pita-  31-r-T-fd-zrf 

• .. 
 	: 

. 	N.•• 
: ? r-  • 

Answer figure 

. 

\3-ckfremil  3 
. 

& ---s'-------"----:-- 	------- F.-1 
._..,.,„ 

(1) 	(2) (3) 	(4) (1) (2) (3) (4) 

77. 	Which 
the mirror mirror 
mirror 
Questions 

one 

is placed 

of the answer 
image of 

Figure 

figures 
the given 

at AB. -i 

is exactly 
figure. If the 

77. Tift AB 	t-N --01.7 -R7§1 -14T Arlly 	c1 
31T-Tf 	(4)1 	IDR4-61 ct;,di 	-Trr 	.3-c-k 

I 
' 	-c1-79-  3Tr-&-Err 

- Fl R  
A 

Fl R 
B Answer figure 

A  	B 
. 

RR H51 H g 
-3 -c-k 3T1 p kzrt 

R R 51 H J d H H (1) (2) 	(3) 	(4) 
(1) 	(2) 	(3) 	(4) 	'..4  

Questions from 
one of of the following 
alternative. 

78 to 80 figure X is embedded in 
figures. Find out the correct 

4R-1 x.kstll 78 t 80 Oct) 3T1Tit X TEMA 
-i---A- 	,,t)  aired 	f 3i-d-:  -.4-riztd- *, 3‘ii 311 

(17 	Ti . 78.  78. 

4 
(X) 	(1) 	(2) 	(3) 	(4) (X) 	(1) 	(2) 	(3) 	(4) 
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79.  79. E  <E>  0  <8>  8  
L <* > 
(X) 	(1) 	(2) 	(3) 	(4) 

<8> 8 
(X) 	(1) 	(2) 	(3) 	(4) 

80. 80.  

J 
 (X) 

<ED 
(1) (2) 

CZ> OE> ED 
(3) 	(4) 

J (X) <X> <I> 
(1) 	(2) 

CD 
(3) 

ED 
(4) 

Direction for Question No. 81 to 85. Rev erse the 
following sequence of the English alphabet, 
then answer the following questions. 
ABCDEFGHIJKLMNOPQRSTUVWXYZ 

'ftbl" :.- 	i 	1 	1-k 9e41 81 	R).  85 * .f .kr 34-4t 
0,44.1101  -- TA 3Tait co) 	up 	4 -1=--4 3/1-- 

-: TrRf4T--d 	1-v91. 	\3-c1N 
ABCDEFGHIJKLMNOPQRSTUVWXYZ 

81. Which letter is 9th  to the left of 24th letter from 
the left in the new series? 
1. X 	2. C 
3. 0 	 4. L 

81. 	,-1 	il-R-ull-  * -41-t -ffRIT 	24 3Ta-TR" * 

.4111:  3N 4)1 9-q1 3Ta-N -441-  0411? 
1. X 	 2. C 
3. 0 	 4. L 

82. 	Which letter is 9th  to the right of 24th  letter from 
the right in the new series? 
1. 0 	2. X 	3. C 	4. L 

82. 	,-I 	.R-Trvuir -4 -q-r-zit 30 t 24 3TaN 

-- tt 30 t 9t-  3Ta-17 .4TIT 0411? 
1. 0 	2. X 	3. C 	4. L 

83. 	Which letter is 7th  to the deft of second vowel 
from the right of new series? 
1. U 	2. V 	3. L 	4. M 

83. 	-I 	s-INIRI- 	c 	-cilt -d-R-12F * 	V-I 	‘-c.k 	c.) 

.41-4I ---EF (-Pi 7c-ii 3TW off 6)4 11? 
1. U 	2. V 	3. L 	4. M 

84. 	Which letter is 6th  to the right of first vowel 
from the right end of English alphabet in the 
new series. 
1. 0 	2. A 	3. 	B 	4. 	P 

84. 	0-1 fl 1 3TaN -I 	TiR-uTt 1 eat c-km.  t 

u- 	--(:k * -q-it 	-Ri:F 	T Of 31-&--N c-t)-8- 

X11  t 1 
1. 0 	2. A 	3. B 	4. P 

85. 	Which letter is 7th  to the left of second vowel 
from the left of reversed English alphabet in q1RP..  
new series. 
1. 	U 	2. V 	• 	3. 	L 	4. 	M 

85. 	.-1 	-ffmt- 	q-iff c-i-vuT ct 	ci,-& Tc.N 	c 

-ffTz 	-EFT 7t 3Ta-R.  471T 611 I 
1. U 	2. V 	3. L 	4. M 

86. 	The mirror image of figure X when mirror is 
placed at AB, in the answer figure is : 
Question figure 

86. 	311-& X cipi -e,-Iur Pfafirv&, 	\i-ic4 	ei LIDI AB 

q-r .-51-1* WQ 3-d'R-  :3•T FT- 	-4 *-1-  'th t? 

P179- 	71 

/ 

I A 

B 
. B (X) 

Answer figures (X) 
.-ck 34-7-fd-Trr 	 . 

(1) 	(2) 	(3) 	(4) 
(1) 	(2) 	(3) 	(4) 
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Direction : (Q.No. 87 to 89) 
If a square sheet of paper is folded two times 
from the centre and cuts are made as shown in 
main figure, how will it appear when it is 
unfolded. Select the appropriate answer from 
answer figures. 

fi4":41 	f0 87 tl" 89) 

.ct) cP1T- N ct)141v1 ct") 	 -P14 	k 
T 41ql -4-ffr ig§4 3T-reo-  A fteirzrr Jig] 

tT ct)r 	 cr,) it--JrzTr 

	

f4€11-     3Tig6 A tr.  

87. 	Main figure 87. ITT 3TITit 

3Tet 

5c5 
(3) (4) (1) 	(4) 	 (1) 	(2) (3) 

'3] 
Answer figures 

(2) 

Main figure 88. 88. 	-t-Cq=1-  3TTT1 

OD 
CO 

OE OD 
CO CO 

OE OD 
00 CO 

CO CO 
00 OE 

DO OD 
00 CO 

on] 
	coj 
Answer figures 

no on on on 
co co co co 

CO 00 CO CO 
00 On OE OE OE CO CO CO CO CO CO 

CO CO DO On DO no OD 00 

OE OE no OE DO OD OE OE 
CO CO OD CO CO CO CO CO 

(1) 	(2) (3) 	(4) 

0 0 001 loo lool loot 
0 0 :5Z1) 0.5 1001 

(2) (4) 

number from the given 

C
4?  

64 

90. 	Select the missing 
figure. 
1. 18 
2. 52 
3. 112 
	 4. 256 

89. 	Main figure 

1001 

Answer figures 
1 1001 

(1) 	(2) (3) 	(4) 
89. .T€04 3TTTIt 

I [o 	

\371 	311-& 
[(Doi fool 

1001 lop] 

lool 0 	 

0 	fool 	 0 

0 	 fool 

ool 	fool 	 

ool [gLO" 

oaf 	loo 

 	(1) (2) (3) 	(4) 
90.  qc) 

1. 18 
2. 52 
3. 112 
4. 256 

31T-Ti4 -Tcr 	 

16 

64 
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PART -11  
SCHOLOASTIC APTITUDE TEST (SAT) 

i*ct) th4401 rifIffr 
(QUESTION NO. 91 - 180) 
(r ti t9.11 91 - 180) 

91 	A charged ballon attaches to a wall 
because of - 
1. Muscular force 
2. Electrostatic force 
3. magnetic force 
4. Gravitational force  

92. Loud sound can travel a large distance 
due to 
1. higher amplitude 2. Higher frequency 
3. higher energy 	4. High speed 

93. Which of the following works on the 

concept of multiple reflection? 

1. kaleidoscope 
2. Telescope 
3. binocular 
4. Sunglases 

91. 3T1-4ftM. 1FFT t4Rt 	vi 101 
*tl 	chkul t - 
1. 44o 44 	of 	2. 9=2R tfr 

3. 	 4. V>c-ciictAlui IM 

92. 010 Wik  	ciq Tedt 	 
cmui t - 
1. 31f4 .  3TrziPi 	2. 3T1' 	3T1#4 
3. 3Tf4 	 4. 3Tft-  'k71.  

93. -ffr 	qDR4-,si 	
IzR 	crpml t 

1. ct)(11-colt-i (E4§11) 
2. QN-ct))t-I 
3. 7-49.  
4. TT 	f t1 41 I 

94. How many dots are present in a Braille 
cell? 

	

1. 12 	 2.9 

	

3. 3 	 4. 6 

95. A full length image of a distant tall building 
can definitely be seen by using - 
1. A concave mirror 

2. A convex mirror 

3. A plane mirror 

4. Both cancave as well as plane mirror 

94. c 	Lch 	(lei) 
vz[1-4-r fir vi I C1 	I t? 

1. 12 	 2. 9 
3. 3 	 4. 6 

95. 7-  ft,2•R 	c4-) 	IT-49" Thl 
1-.-ircylfZsict 	 tuff 5 T •1ct)c-11 
t? 
1. 314dF 
2. \31-1ei TtoT 
3. ,fl4-ic1ei -q-chrT 
4. 314ffF 	quM 	 ORT 

96. A pendulum completes 12 oscillations in 
10 seconds. Its frequency and time period 
respectively are :- 
1. 1.2 Hz, 0.83 s 	2. 0.83 Hz, 1.2 s 
3. 10 Hz, 12 s 	4. 12 Hz, 10 s  

97. For the following figure which one of the 
option among the given options is correct 
(Mirror are inclined of 90°) 

1. Li = 30° 
	

2. Li = 45° 
3. Li = 60° 
	

4. Li = 90° 

96. Lch 	ei)Qict) 10 ttr-r 14 12 q)e-1-1 
t I Tff-4.  3Ifer 	 st)4-RI: t - 
1. 1.2 Hz, 0.83 s 	2. 0.83 Hz, 1.2 s 
3. 10 Hz, 12 s 	4. 12 Hz, 10 s 

97. 3IT1 R 	ftw-et t c11.1 
-ffer f4m--cr t 	d-ur 90° zR 

• 1. Li = 30° 
	

2. Li = 45° 
3. Li = 60° 
	

4. Li = 90° 

06A 
	

Page 15 of 24 



98. Some Animals can hear sounds above 
20,000Hz which human. beings cannot 
hear. Which of the following Animals 
cannot hear the sound above 20,000Hz. 
1. Dog 	 2. Rhinoceros 
3. Propoise 	4. Bat • 

99. Which of the following is correctly written 
in increasing order - 
1. Rolling friction, Sliding friction, Static 

friction 
2. Rolling friction, Static friction, Sliding 

friction 
3. Static friction, Sliding friction, Rolling 

friction 
4. Sliding friction, Static friction, Rolling 

friction 

98. IVJ 20,000Hz 	--1:17 4 arrqt -01-4r 
z4-f   4i() t ,3-11 A-115a 9-ef ii 4Iciil  
1'419- 	4,1-1 31T 3-1l1cN *fl 3ITe fi 

	 t.-1.) 	31-RTAO 	- 
1. ct2,-cit 	 2. 
3. 	fT 	 4. z14-1,1Iq\S 

99. t 	 -R4 f4m- zr 	qtlui 
TO .54,4-i A-  frr 41q1 t - 
1. oilct) qt=1.1, 	 t4tiui 
2. cl)t(ct) tAul, 
3. tAul, 	(1)t Rct) tAul 
4. T4747, 	 Q-11tRct) tAui 

100. When a force of 20N acts perpendicularly 
on an area 5cm2  the perssure on the 
surface will be equal to - 
1. .04 Pa 	 2. .004 Pa 
3. .0004 Pa 	4. .00004 Pa 

101. A rubber sucker when pressed on a 
surface, sticks to it and it is yery hard to 
pull it up. To pull the sucker off the surface 
the applied force should be large enough 
to overcome - 
1. Gravitational force between rubber • 

sucker and earth's surface. 
2. Eletrostatic force of attraction between 

them 
3. Atmospheric pressure 
4. Magnetic Force  

100. v161 20N 5T 61(1 f T. *R-W 	5cm2  
oi-sioct 'ftffr 	M41R11 vl l ci 	1 t 

.(1 'W16 1TR. 	 q161 1 -1 { A t 	 
14 11? 

1. .04 Pa 
	

2. .004 Pa 
3. .0004 Pa 
	

4. .00004 Pa 
101. ) 	151-  co) ‘3161 ftRit 	TfT21 

C 	611 itzit \Aim t 	\3,) 	 R-5N.  
flct-K) 	R-51fi--44 	oniqi +1 11 	 
fir 	tr f+--Tr 	3Tf 	51-11 rf'87 I 
1. tpt 4 flc-16 

4SOcclIct-Alul 
2. ft-m-  ttp 61 	M (3-TWsFuT) 
3. clIT1uAzi 4161 
4. .11-  GI ri 

102. The optical phenomenon twinkling of stars 
is due to 
1. Atmospheric reflection 
2. Total reflection 
3. Atomspheric refraction 
4. Total refraction  

102. kiN1 	1 11f 4-11.-11 441-  WPIAq 	*-1 

1. 6liT-isQ11.1 
2. tperl.  4kicid-1 
3. clIT-Iu5eN 341:1449.  
4. VI 3TITT-49- 

103. The polymer used for non-stick coating on 
cookware is - 
1. Terylene 	2. Nylon 
3. Teflon 	 4. Thermoplastic  

103. 1 4-.1AR5(-1 	4-I 	 trwr4 
clic) 6 0-9-1-  icF 	f4ct,4 	crTa Qvii‘) A 

t - 
1 	.1 	2. .1P-1Q-11.1 
3. 4-)(11.1 	4. 2114tFTit 

104. Salt is obtained from sea water by the 104. 
process of - 
1. Evaporation 	2. Filtration 
3. Decantation 	4. Condensation  

-fft-q 	tf 	ct))-  tp-TT.  ct-r<.) qr-ji 

co5c11(1) t - 
1. 	c1lu-1.1 	 2. 	• -k-11q.-1 
3. R•Wkul 	4. flt-1.1.1 
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105. In the process of galvanization iron which 
of the following metal is usd - 
1. 	Strontium 	2. 	Zinc 
3. Copper 	 4. Magnesium 

105. zlIqc)1-1-1 Rit-4T # (-1) 	t fkr-ff #--4 
trig 	---4d-  tt t? 
1. 	,t-Alq4-1 	2. 	\31* 01 
3. 	chIL-1 	 4. 	414 -IV4114-1 

106. Which of the base is used in window glass 
cleaner? 
1. Sodium hydroxide 
2. Magnesium hydroxide 
3. Calcium hydroxide 
4. Ammonium hydroxide 

106. ct)IT-1 lift cb 	(-Ile) 7-4T # 41-1 T a-TTR-T.  
TT .verrr f+-ZiT ‘51101 t? 
1. ti)i-14-1 	cNii*5 
2. 414 -1)PRI4-1 	611- 11“ 
3. ct)i- P-4 4-1 61acR-11.S 
4. 311TIfkqii 61actvil5 

107. Which of the following can be beaten into 
thin sheets? 
1. Sulphur 	 2. Hydrogen 
3. Chlorine 	4. Zinc 

107. f41 T # --1 f+-71 ch 	1:Trd 	tic t TIM.  
1-IRci 	f+-zrr --r tict)cii t? 
1. 	*Icri- 	 2. 	1v1.-1 
3. 	TA-fl- 	 4. 	FO (uht-c11) 

108. The fiber obtained by chemical treatment 
of wood pulp is - 
1. Nylon 	 2. Terylene 
3. Rayon 	 4. Acrylic 

108. (*-11-c 	c1 # T c11-1 TT ..1:41T T115U VI 
•M-IP-4 	0 \34-E4K T Vicc'T f51T \AIM t? 
1. 	-I-I q e-I)- 	 2. 	a,N,1).-i 

'Tr 3. 	R=119. 	 4. 
109. The chemical used to test proteins in food 

samples are - 
1. Magnesium sulphate and sodium 

hydroxide 
2. Copper sulphate and sodium hydroxide 
3. Sodium sulphate and copper hydroxide 
4. Copper hydroxide and sodium 

hydroxide 

109. UM( TilTft # 1;1)-eeMi c 	viii{ * fp fr 
-1k4.1.  chi Alf 6)01 t? 

1. ),•11PN-H1Tret-d. 	-2.11*.1)144-f 
61*lT 

2. cl-)-11-k V-ecbZciPlT ,f-I 	qii 61*cN-11*,5 
3. .afq4-1 T-OtZ -2,11 chlt-H 6lOcht-fl4.5 
4. (1)-14't 	1*)(1-910.5 .241. 	.-i)1..4 4-1 

61* 	cN-II* 
110. 	The 	chemical 	compound 	present 	in 

calamine lotion is - 
1. Potassium carbonate 
2. Zinc carbonate 
3. Magnesium Carbonate 
4. Sodium carbonate 

110. 

2. 	f 	ciliW  

cbc114-11*--i 	fcriti-1 	(ciRi-) 	# 	300Q-Iff 	,miLiri 
)c-it t 

1 	1-i)8PR1q cfflc,Pc 
k-   

3. Riii 	4h14 ,1t 
4. ,t-i 	-i41 	chiGi 	.), 

111. The polymer used to manufacture water 
bottles safe for drinking purpose is - 
1. PVC 	 2. Melamine 
3. 	Bakellite 	4. 	PET 

111. f 	icTcl,, chi \34R1)+1 L.1).) 	tilt cb) tdA 
T-1 	-1 -q.  f ---zrr Quo' t? 
1. 	t ti 4 (PVC) 	2. 	A-F14-iI4vi 
3. 	.$)c.r11* 	4. 	1t 4 ti (PET)  

112. What is the product formed when sulpher 

dioxide is dissolves in water? 

1. Sulphur trioxide 
2. Sulphurous acid 
3. Sulphuric acid 
4. Sulphur 

112. 

1. flet,t)3.t  

yIN 	flc.A-t). 	\SI3TF4Tfl*,8 	7Th 	Th-'1 	I:11-11 	-4 
Pc1R11 	vlic-11 	t, 	clef 	cl-e41 	'.c.iIq 	A-9-d-1-  t? 

'W1-10 
2. .i-lc-t-V1 	311 T 
3. ,-1c,4ekRct) 	3111- 
4. .0 cA-r) 
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113. Which 	of 	the 	following 	is 	non- 
biodegradable? 
1. Glass 	 2. Paper 
3. Wood 	 4. Food waste 

113. "1 4-.1(e-I 	A 	3). 	col-r 	TIT 	zrErftrtz 
ulci-3T111R1 t? 

-1 1. 	c11 -r-f 	 2. 	44 1\31 
3. 	"Tfl- 	 4. 	fl---q-zf 3-17011Z 

114. Plastids, containing pigments are known 
as 
1. 	Pro-plastid 	2. Leucoplast 
3. Chromoplast 	4. Pseudoplastid 

114. cf)6() '&114) 1-- 1-  LriirZ-t 	4  	g I 
1. 	01-01R-t \s 	2. 	c.V.1-;11-Q1N-t 
3. 	st) +I t-c,ik-t 	4. 	,--.0')I-c-1.1R-c...5 

115. Two 	processes 	done 	efficiently 	by 
combine machine are 
1. Harvesting and Threshing 
2. Ploughing and Leveling 
3. Ploughing and Harvesting 
4. Leveling and Sowing 

115. ct)i+611-1 Tret9-  "gTU 4.)1ool LK-4-- 	i 	uli.) 
qr-"r tr 1-4-f-zrr 	f 
1. ct->t1i 	c,t OffiTr 
2. 6r1 	-c1c11-11 	t;ci 	c)ci1I4 1 
3. 60 	T4e11-11 	1;ci 	(--t)tI 
4. c) c.11 41 	ci 	-311- 

116. Silver revolution is associated with the 
production of 
1. Good quality grains 
2. Egg production 
3. Milk production 
4. Fish Production 

116. '\31c1 	it 	12-31-4.i ‘3ctilq.-1 t VT 
1. 3T-4r f+-f4i * 3T 
2. 3.3-1 	ici-lIct--1 
3. pl.  \3ctll-1 
4, 	AETA (4-ic-4) 	NI q -i 

117. Which 	of 	the 	following 	set 	of 
chromosomes exactly refers to human 
male gamete 
1. 22 + y 	 2. 23 + y 

3. 22 + xy 	 4. 24 + x 

117. . -9-41' 	t 	col-I 	tT 	ciltc1c1 	A 	'T 	TTIT 
ct))11)tiTh .61 SIT 	,)t 	chl t-qjg1-- 	c-11 

. I 
1. 22 + y 	 2. 23 + y 
3. 22 + xy 	 4. 24 + x 

118. Which of the following organ is affected by 
jaundice? 
1. Kidney 	 2. Pancreas 
3. Liver 	 4. Duodenum 

118. tiri6711 ffi9 A t cl',1-1 t 3PT -). 74-1Traff 
4, c11 t? 

• 
1. 	4,1,q1 	 2. 	3-1TRTURT 
3. 	.f. 'iR 	 4. 	7gerf 

119. Which of the following is cold blooded 
animal? 
1. Rat Rat 	 2. Chimpange 
3. 	Bird 	 4. 	Lizard 

119. E t 41.1 m asI%--q cil cl I v11.1c-N t"? 
1. 	--VT 	 2. 
3. 	tier 	 4. 	r01-14)c-1)-  

120. If there was no Carbon dioxide in the 
earth's atmosphere, the temperature of 
the earth would be : 
1. Lower than the present. 	 - 
2. Higher then the present. 
3. Dependent on the amount of Argon gas 

in atmosphere. 
4. Dependent on the the amount of 02 in 

atmosphere 

120. 31-TR Ipx-11. 	cil ssc-I A Th-T---Zn---', - 

-et et, c1) 1:12,ct 4 cflt-l411-c T:11 t) -c-ff? 
1. V-4P11- 	'R-)- 	cl-)4-1 
2. 4-491-9-  34.  3i14 
3. 4I Tis8c1 A 3749' 4 TETT uR f4 

ct-P<c11 	t 
4. 41 4-isc,1 A 02 4 7:r1--T IN ft0 

4 4•<.01 	b 

121. In human mainly absorption of water takes 
place in 
1. Stomach 	2. Small intestine 
3. Mouth 	 4. Large intestine 

121. 91.1cl AT 	d-: 1:11-4t 4 34-47ftEccri 	 if tic 
g ; 
1. 	3,TTA177 	2. 	"Etret 3Ti'd.  
3. 	1. 	 4. 	"41 3T d.  
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• 

122. What does 'PM' stands for, in weather 
report. 
1. Prime meridian 
2. Parts per million 
3. Particulate matter 
4. Prime material 

122. 

2. qi-J-ii 	I- i-l•-i  

t 4-I *I4-( RizilZ # 'PM' TT 4111 3TO 
1. 	AT-411 i)(Zfei.t 

IR M 
3. .. -IffIzi AST  .I (4i1dct3c)e Ad.) 
4. 	Aqii 31Trith 

123. Chernical pollution in water body helps in 
growth 

shes  
of 	

2. Tadpoles 1. 	Fi  
3. Octopus 	4. Algae 

123. utei 	4 	,<poie-1cr) 	cTitri ---*T" .  fit49-  if 
*1614-145 6)01 t? 

	

1 	flt.01. 	 2.  

	

. 	T  
3. 	3iT-4&rii T 	4. "71 ch i  

124. 'Amaranthus' is the name of a common 
1. Cereal 	 2. Pulse 
3. Weedicide 	4. Weed 

124. .wr 9-Pi t 1 -.01--ieri-i . .t) tiii-w-4 	 
1 	3T9T7 	 2. 	<06-1 
3. 	...1XLIticiN-114 	4. 	tgV-Icici k 

• 
125. Development 	of 	secondary 	sexual 

characterstics in human males is due to 
1. Adrenalin 	2. Testosterone 
3. Estrogen 	4. Thyroxin 

125. 41I-Icl 	9R 4 	ii ul 	tlfilT WaTuft Trfd ct, 	cl 
ct). 	clic11 TI:ififf t 
1. 	0I1f-r 	2. 	•t-e) \i-1.-1 

3. 	.S.riff 	4. 	tireforff 

126. If +xi = 462  then the value of x is 	. • 
1. 5 	2. 25 	3. 64 	4. 256 

126. 
4. 256 

z1 	4(4x)7  = 462 	x TT TIM" t: 
1. 5 	2. 25 	3. 64 

127. The value of (0.000064)% ÷(0.0016)X is. 
1. 	2-1 	2. 	4-1 	3. 5-1 	4. 	104  

127. (0.000064)% ÷ (0.0016)X TT liT9 * : 
1. 	2-1 	2. 	4-1 	3. 	5-1 	4. 	10-1  

128. 

• 

In a group of 20 singers & 40 dancers, 
20% of the singers are less than 30 years 
old & 40% of the entire group are less than 
30 years old. What percent of the dancers 
are less than 30 years old? 
1. 30 	2. 40 	3. 50 	4. 70 

128. 20 TIPTTI• 3N 40 -1401 T 
TT 39 

ti 

-) TRX 4, 
TITZW' TT 20%, 30 zlli tf Tli * 311-i.  
Tfrrik14 	Pig TT i 	40%, 30 cOq 39  * 
t I 	JTI.  TT ItJ9T Rtrff 30 -44 tr cb4i 
3TT" 	TT t? 
1. 30 	2. 40 	3. 50 	4. 70 

129. If 	- +g- = 2, then value of 
q P 

1. 0 	2. 2 	3. -2 
9 
VI 

23 	)7 

+i 
P 

4. 23° 

is. 129. 
23 	( 	)7 

+ 1  
P 

-2 

TT TITff t: 

4. 23° 

11 +g- 4-I 	=2 th-  (E) 
q 	P 	9 

1. 0 	2. 	2 	3. 

130. 
2 n+m 3m-8n 

X 	X 
The 

	

	 is: value of 

4. 	xn 

130. 
2n+m 

X

n 	
mi. -9-F 

3m-8n 
X 

t : 

x-" 	4. 	x" 
X

5m -6n 

1. 	x-"' 	2. 	e 	3. 	x-  
x

5 m-o 

1. 	x--"  • 	2. 	xm 	3. 
131. The list price of a watch is 21600. After two 

successive discounts it is sold for 21224. 
The first discount is 10%. The rate of the 
second discount is :

C1 1. 15% 	2. 17 -% 	3. 14% 	4. 13.5% 
4 

131. * I I  ct.) 	ti4 	•T• 	3ift-- 	rfff 21600 
31-jfT €40/toe 	(rilIK-1M T "Wq * 
21224 # 	-c-II TRIT I eif4 tr-01 ti)„e 10% * car 

14% 	4. 13.5% 

Vria 1s)c, 	14falc-f t : 
1 

1.15% 	2. 17 -% 	3. 
4 	• 

132. If 50% of (x-y)=30% of (x y) then 

Y percenta 	of - will be : ge 
x 

1.25% 	2. 30% 	3.10% 	4.15% 

f  

132. of (x+ y) A-  ITT 
x 

3.10% 	4.15% 

11 	50% of (x -y)= 30% 

14ld 611 
1.25% 	2. 30% 
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133. If 207Y x 50.53' = 4011i, then the value of 
x+y is 
1. 3 	2. 5 	3. 8 	4. 	10 

133. . "-T -4Tfff '.i1 	203' x50"5Y  = 40N5 	It x+y 	t: 

. 3 	2, 5 	3. 8 	4. 	10 
 

1 

134. 
a-b

,y= 	 c 	a  
b-c 

If 	 then x = 	 and z = 134.  
a-b 	b-c 	 c-a 

iR 	 3f 
 

x= 	
,y 	 z  

a+b 	b+c 	c+a 
(1 + xX1-1- yX1+ z) 

is: 

a+b 	b+c 	c+a 
(1 + xX1+ AO + z) 

the value of 
(1 -x)0 -Al - z) 

1. abc 	2. 	a2b2c2 	3. 	1 	4. -1 
(1 -40 -yX1-z) 
1. abc 	2. a2b2c2 	3. 	1 	4. -1 

135.  If BAx B3 = 575, then the value of B & A are 
1. 6,5 	2. 	5,2 	3. 7,4 	4. 2,5 

135. zift BAx B3=575, -ef B 31h A 	4-II.1 * : 
1. 6,5 	2. 	5,2 	3. 	7,4 	4. 	2,5 

136. A 	bag 	contains 	slips 	with 	numbered 
written on on them from 17 to 40, one number 
on 	each 	of these slips. 	What is the 
probability that the slip picked up bears a 
prime number at one's digit? 

1 	7 	5 	3 
1.- 
	

2. 	3. 	4. 
2 	12 	24 	i 1 

136. Leh 	c) 4 1 	7-1' ctp 1-1-41 Ta-  * -f -14 t 
-41 1:17 17 tr 40 14" C6) titcz11311 # ti 	cr) 

.-i'4-0-41 	i --Gir 	ti 	.) 	44 	\361.) 
- 1.  Mact),di creii trt qR .3flcb1 *c4,4 	3i-- 

) 3P-T1 	T tksql UV 
7 	5 	3 

1. 	2. 	3. 	4. 
2 	12 	24 	8 

137. Width of a room is half of its height and 

height is -
3 	times of its length. If cost of 
2 

flooring the carpet on the floor at the rate of 
z40/m2  is z4320. Then the height of the room 
is : 
1. 12m 	2. 15m 	3. 18m 	4. 20m 

137. cr) M-4:1 .  4 -,41,i 	-ciii 4 3Tilt t 
3 

31IR. 	‘3.;-c14 	4 	tr-11 	t.  I 	zi 	t-t) Yi 
-2 

1:R Z40 A10 ci 4 f 4lle• 	.qr7 t .-I-A- 	ETA 
' .1.  cfri tl-cl Z4320 6) t --1:1 -  4 0.;t414 -g: 
1. 12m 	2. 15m 	3. 18m 	4. 20m 

 
138. Which of the following statement is true for 

the given data :- 
3, 9, 7, 8, 9, 10, 20, 9, 3, 5, 7, 9, 10 
1. Median = Mean 
2. Median > Mean 
3. Median < Mean 
4. Mean = Mode = Median 

1 	=  

138. 4-1 -4 3:).  ct-;)-I TIT 	2.1-9-  ft Tr7 3TU-0 * 
i' -q. 	*ic-zi 	-g: 
3, 9, 7, 8, 9, 10, 20, 9, 3, 5, 7, 9, 10 
. 	liTuff. 	lilzif 

2. 	'lam' > Tflzxf 
3. liTZZI 	< liltzi 
4. TRZI.  = -4-TOT = Tfrar- 

139. Ina camp there is meal for 120 men or 200 
children. If 150 children have taken the 
meal, how many men will be catered to 
with the remaining meal? 
1. 20 	2. 30 	3. 40 	4. 50 

139. •17 \ co cr-)414 # 120 c24(4cie-i) TIT 200 4- ) 
1)--9-  31:1WcT ', I zik 	150 	f 	'4it---ff 

fo-zrr 	fccii pT1-  '11179-  f+-A.  0.41-4w4I 
f' 	trzri-Tr -V 
1. 20 	2. 30 	3. 40 	4. 50 

140. 
0.081 0.081  0 .484 	2.5 	

is: The 140. 
0.484 	2.5 _Iii  t.:

X-  x 	x 	
o. 

	

square root of 	x 
0.0064 	6.25 	12.1 

1. 0.45 	2. 0.75 	-3. 0-.95 	4. 0.99 
0.0064 	6.25 	12.1 
1. 0.45 	2. 0.75 	3. 0.95 	4. 0.99 

141. Ajay sold a bat at 8% gain. Had it been 
sold for Z75 more, then gain would be 
14%. The cost price of bat is 	• 
1. Z1440 	 2. Z1250 
3. Z1225' 	 4. 21350 

141. 31-AR:1 A v4) 	Null 8% -01-1-  rR , T-4I I 	q14 
61C01 	Z75 	zifi-- 	A 	. -r-ii 	utivii 	--1- 	14% 	9TI[ 

)c-11 I q 	*r c.N.1 Tffr t : 

	

1. 21440 	 2. 21250 

	

3. 21225 	 4. 11350 

I 

1 
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142. The interior angle of a regular polygon 
exceeds its exterior angle by 108°. How 
many sides does the polygon have? 
1. 	10 	2. 	12 	3. 	16 	4. 	14 

142. c.r) 	:111.-4-0p 	I: --Thur Tii-- 	.qTat Thlul.  
t 108° uti1q1 t I .--e-7. 14 	1T311 	1.  City-it 
.1 ---dt t?  
1. 	10 	2. 	12 	3. 	16 	4. 	14 

143. Amit's income is 60% more than Sunil's 
income. 	By 	what 	percentage 	Sunil's 
income is less than Amit's? 
1. 40% 	 2. 42.5% 
3. 34.5% 	 4. 37.5% 

143.  311:4o.  4 3T71 t4 1.--d.  4 311-4 t 60% 3ifiT 
r'r t 1 	- 't 	4 &RI 3T1i:rff 	zi-rzr tr it...ffk 

mDici coil 	? 
1. 40% 	 2. 42.5% 
3. 34.5% 	 4. 37.5% 

144.  If length of a rectangular field is increased 

by 30% and breadth is decreased by 20%. 

What will be the change in its area? 

1. 2% Increase 	2. 3% Decrease 

3. 4% Increase 	4. 4% Decrease 

144. 

6411? 
 

ziR Lc.D 31TzralTh-R to. . 1.  e-11-64 t 30% 
Nit ft.ziT v-IN Ot1T zI)51 	4 20% OH cfr< 

vIN 	4d 	 colt LiRici-i  itzTT 	 awzb-F 14 
) 

1. 	2% lit 	2. 	3%c)  
3. 	4% lit 	4. 	4% (A 

145. Find x from the figure if FDIIBCIIAE and 
A 	 E 

145. 3ff-ff:O. .4 x 	TIM.  vim ct-p) LA FDIIBCIIAE 

ACTEDACTED: 

	

1. 	127° 	53° 

	

2. 	114° 

	

- 	
A 	 E 

2.ff ACHED: 

	

1. 	'127° 	 53° 

D F 
3. 119° 

° 4. 61°B 	66 	 c 

2. 114° 	 F 

3. 119° 
66° 

• 4. 61° 	B 

146. Bhimbetka Cave is situated in:- 
1. Uttar pradesh 	2. Andhra Pradesh 
3. Madhya Pradesh 	4. Maharashtra 

146. 1-114=1.  +pi R-24-o t :- 
1. 	\3-ck caw 	2. 	3TRI AtZT 
3. 	lizif AST 	4. 	+i>; Ill 

147. Three main deities of Rigveda Era are :- 
1. Brahma, Vishnu, Mahesh 
2. Surya, Chandra, Agni 
3. Shiva, Parvati, Ganesha 
4. Agni, Som, Indra 

147. i--1-kq.  cr)1e1 	cil-i -Silpi 	c.icil 2T 

1. 	§Mil, 1'49, *..1- 
.9.  2. i, zi 	3 Tii -q, 

3. 	f4T-q-, 1:1T -44t, 	4 tull 

4. 	3Tfrff, 	.0 41, 
148. Place 	related 	to 	Dharama 	Chakra 

parivartan :- 
1. Kushinagar 	2. Bodhgaya 
3. Sarnath 	4. Sanchi 

148. `z111 -cisi, 1:11t4-4- ' 	-QT6.  WI.  Ti-4q.  t :- 
- 1. 	vi)-14 N 	2. 	AT 
3. 	*IN-112T 	4. 	 Tat 

149. Author of 'Prayag Prashsti' is :- 
1. Samudragupta 	2. Banbhatt 
3. Harisen 	4. Kalidas 

149. mqiil 	ci-wfto. 	.-RA. 	t :- 
1. 	tiqtt‘-c1 	2. 	ATTI-1-- 
3. 	tferur 	4. 	chlekI*1 

150. Three presidencies of colonial India were 

1. Delhi, Bombay, Agra 
2. Bombay, Agra, Madras 
3. Agra, Madras, Bengal 
4. Madras, Bombay, Bengal 

150. 31Itift-kft 	I-TNU (-61 cfi.-1 n.m 4 :- 
1. ftr, 	- 4, &Ku 	. 
2. '41 1--4, 3111TRT, 	4-iqi*i 
3. 311-/TRT, 	1-IW\9, 	4+110 
4. 4-1qN-1, qqt 	ciillei 

151. Tisco was established in :- 

	

1. 1900 	 2. 1905 

	

3. 1907 	 4. 1910 

151. fe.- ht 4 3.Q•ITEFT §4 :- 

	

1. 1900 	 2. 1905 

	

3. 1907 	 4. 1910 
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152. Raja Ravi Verma is known for his :- 
1. Bravery 	 2. Paintings 
3. Kindness 	4. Dance 

152. '1Q-IT 	, f- 	cp-ii 	vii.) 	.yitc)- 	t 	:- 

1 	4USt 	 2. 	1.-:1cta 

3. 	qq1c1c-1i 	4. 	T---.4 
153. Oldest Veda is :- 

1. Athary Veda 	2. Sam Veda 
3. Yajur Veda 	4. Rig Veda 

153. - T-qt 71-4119. 	t :- 
1. 	31-244q 	2. 	TITT 

3. 	q----4-4. 	 4. 	-)i-t.4 	q 
154.  

155.  

Battle of Buxar was fought in :- 

	

1. 	1764 	 2. 	1765 

	

3. 1766 	 4. 1767 

154. 61ct*N 	c.61 	Msl 	2.11 :- 
1. 	1764 	 2. 	1765 
3. 	1766 	 4. 	1767 

Arthashastra was written by :- 
1. Chanakya 	2. Karl marx 
3. Ravi Kirti 	4. Prem Chand 

155. 3T21 Ik 1 	c. 	‘ -c1f 	11 	t 	:- 

1 	-r.1 iu1 cm 	 2. 	c1)1(4 	1:11--0:4 

3. 	-14 mtf4 	4. 	4-1-r--1-q 
156. 	Which 	of the 	following 	is 	referred 	as 

`Buried sunshine'. 
1. Gold 	 2. Diamond 
3. Coal 	 4. Copper 

156. '34--d-ftff 1 1---iffZ5ci 	-4 tf4.) -fct-)1 	qtr' 	-;,-)L1 

'If 	v-11-11 	Q11c11 	t? 

1. 	sa,-if 	 2. 	trU 

3. 	tzi-or 
	

4. 	OW 
157. What is the name of the Indian Research 

station in Antarctica 
1. Himalaya Putra 
2. Dhruviya Gangotri 
3. Dakshin Gangotri 
4. Shweta Gangotri 

157. -t--4 31-CI7 	# -Ruff 4-TI-RThT ,M-P-TT9. cPl 

-1141 q-EIT t? 

1. 	1 41Ic-R1 -p 	2. 	e-4 Tt7t1-11- 

3. 	-qrffuT -rf-T1'1-4r 	4. 	*ff. -4-tz-nt 

158. Which - of the following cities is known as 
the 'Gold Capital' of the world. 
1. London 	 2. Johannesburg 
3. Kimberley 	4. New York 

158. 1 4---1f1Z5c-i 	f'' 1 ---e -i,i 	cr)) f47-4 4 -RiO 
-----zTrt 4ft cb6r ,iidi t : 

1. 	criq-1 	 2. 	TY1)61.)*iss14 f 

3. 	RE,No) 	 4. 	izir 
159. Growing of vegetables and flowers for 

commercial purpose are put in which of 
the following categories :- 

	

1. 	Horticulture 	2. 	Sericulture 

	

3. 	Viticulture 	4. 	Pisciculture 

159. cliPIRrqco 	\3Lizi) 4 i t ftK flr61/43-1z4). X211 TV 

c61 &O't ct") f+--fi coil): - ur „-licit t :- 

1. 	\3U-1 T-fit 	2. 	4a c1.-)N 

3. 	ffocict)c,-c-k 	4. 	1') 	)c'c'-L11 

160. 

. 

Which one of the following statements is 
incorrect about tides? 
1. Tides are caused by the gravitational 

pull of the sun 
2. Tides are caused by the gravitational 

pull of the moon 
3. Tides help in navigation 
4. Tides are always destructive 

160. ft--11%cr ii .t ct;1,1 TIT Th-w9 	7r-iK 4i1Z1 	Nib  

- 	3TTITzi- 	t :- 

1. TO * TocciictAui * ct-)Nui vcik 4-TT 
31-10" t I 

2. T-1.-4-11 * 7~~c-I IctA u1 	4)1'01 vcIN lit 

3t1ff t I 
'1 3. vciR 1-11 	-N-i-c11Q1-1 # ,4161Lict) 	g I 

4. \JOH 1.T1 	ZftT q-11Y1cb1'a 6)c) t I 

161. 	Which 	of 	the 	following 	landforms 	is 
created by sea waves? 
1. Moraines 	2. Stacks 
3. Meanders 	4. Loess 

161. 1*-11WZ5c-1 # tf f+--€ 	-P--1T9T-T10- ct)I ffiTioT 

---ltt c-1 4 11 	-1-U f+- 1T u11t-11 V 

1. 	ff 	 2. 	‘ct.) 
 lit4 	 -8 

3. 	f4--i-i4 	 4. 	dlysz-i 
162. 

. 

The Alps mountain of Europe fall in which 
of the following categories of mountain? 
1. Fold mountains 
2. Block mountains 
3. Volcanic mountains 
4. Erosional mountains 

162. #14 * 311-0:Ri 14-4-d- -1 4--11WZ.w -4 f 	ci 4 i- 

c- 	Off *? 
1. 	qr6-ff 1:1-4-ff 	2. 	In1)--c21- 11-4-ff 

3. 	ucildlta tic 	4. 	311:1 	tic 
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163. 	Granite is an example of which of the 
following rock type? 
1. Extrusive igneous 
2. Extrusive sedimetary 
3. Intrusive sedimentary 
4. Intrusive igneous 

163. 	•-ri* 	R+-i 	ci 4 4 ft---4. *--  AT7 4)1 

316 ,-,1 	.g? 

1. 4t4-)t 3TP-44 	2. 	-1:g1-)-- t 31-4RITt 

3. 	31--dlltf 31- 711t- 	4. 	31-M1T 3-7-4E1 

164. 	Air always moves from :- 
1. Low pressure to high pressure area 
2. High humidity to high temperature 

areas 
3. High temperature to low temperature 

areas 
4. High pressure to low pressure areas 

164. 	qFj COI 	4 1+1.1 	•<-Ici 	61dl.  * :- 
1. e4r9" . 1-q" &i.)-.  tr \ -r,T4 	X14  ei- 	(61 A-, 
2. 3-cci 	311--- 1 aq tf 3--r-T di4P-Il-1 &7-.)-- • 

31Yi.  
3. \.Tcr-1 	c-1144-11-1 	&k. ' 7) f41:9.  clILR11.9.  

l 31YR.  
4. \3-G-T-1 	4iff&'.)--- 	t 	f 7 :1 	qicf &'• 	Th1 30 

165. 	Oxygen is found in which of the following 
layers of the Atmosphere? 311-4Tfr 
1. Exosphere 	2. Thermosphere 
3. Mesophere 	4. Troposphere 

-t. -crzu -4 165. 	4,-1 d 	1 4 t ulTisei 4 ,f 
1:1- 	7r-idt t? 

1 1. 	Ng4-15c1 	2. 	GII 4-I 	ri  
3.Tiaf14- 9.. 	4. 	g-1- 

166. 	Who 	is the constitutional Head of the 
government of India? 
1. Prime minister of India. 	' 
2. President of India. 
3. Chief Justice of India. 
4. Attorney General of India. 

	

2. 	e'l)  

166. 	7-T7-ff ' -Nc.r>k 	7t4UTf 	31tzla-T Gill *? 
1 	1TR-J 	-rtz-Tr911-- 

'1-71-R--ff 	VIIKtfit 

3. I-17 	c. 	5E04 7-TIPTit7T 

4. 7-17-d 	416l-LilL4cilq) 
167. 	Which of the following Indian states has 

least population? 
1. Mizoram 	2. Nagaland 
3. Goa 	 4. Sikkim 

r 	Th 	Tf4il'----  'f 	 ch 4-1 167. 	f li t W ii 717-tz1 7 1 - Z 7  f 

ul-k-kg.li t? 

1. 	r4\31)'< 4i 	 2. 	-i(4 1 i 	.5 

3. 	T1113TT 	 4. 	ftifIi 
168. 	Who said, "It is disgraceful to live at the 

cost of one's sllf respet?" 
1. Dr. B.R. Ambedkar 
2. Sukumar Sen 
3. Jawahar Lal Nehru 
4. Jai Prakash Narayan 

-afr- 168. 	.12 9--4 	cr->r, 	3TIK--Z-471. 	cbst 	qIci 	q 

e14 11 ct>, 	-A.raff •<5•11 3fZ1*41-4 * i"? 

1. .4'10 '410 3170 31Tif 

2. W117 4)-1 

3. uic11$ 	ellqi 	•)1 

4. v.RI 	5,4cnI1 	-iklgul 
169. 	Democracy means : 

1. Rule of people 
2. Rule of ministers 
3. Rule of speaker 
4. All of the above 

169. 	ri c-nci:f V 3T2.1.  * - 
1. 	ail) 	c01 YIk1.1 	2. 	Tif-Wf MI 	IN-i•-1 

3. 	3Tafaf 4)1 	IN-1,-1 	4. 	\3t-k cm Tit I 

170. 	The Prohibition of any Part of Films, News 
etc. From being shared with larger Public 
is referred to as - 
1. Emergency media 	2. Censorship 
3. Biasness 	4. Screen Securing 

170. 	f!F=1, 	s11-II-c1H 	31-ri: 	c• 	WA-  'WTI 	ch) 	u1•1 

'tqlz•I 	ocr) 	tr-g-- 	t 	Rra-ofk-a 	q.)-ir 
-g.  ct) 	c,1 1c11 	-  

1. 	3111-11cIcPleTR TifT 	2. 	ftettf 

3. 	441TM 	 4. 	b'17 TaiT I 
171. 	Article 21 includes : 	 ' 

1. Right against exploitation 
2. Right to speech 
3. Right to health 
4. Right to worship 

171. 	31 -Tct-4.  21 \Licaci * - 
1. vhrur 	ffb-- 	3arwR 
2. 1iPsfiri CM MO-TR 
3. •-c-i ri-eif ?5T 31fUT-R 

'""1" 4. •51Tzt9T 	31f4- 7 
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172. The constitution of India describe India 
as- 
1. Federal 	 2. Quasi federal 
3. Monarchy 	4. A union of state 

172. '4-117-ff cFT Tip tTi9- 11-17-d-  0,1 Eftfitd ct), c-iT t : 

1. 	-#E1171- 	 2. 	314 "H 	Ll 

3. 	- 1,3-ici-:4 	 4. 	71\7F-ff -451-. -it.l.  

173. The Article which deals with 'Education for 173.  'RT-440Ta-Tr 31- 3)--q 	v1) 	 -).  
All'. 
1. 	Article 41 	2. Article 43 
3. Article 45 	4. Article 44 

1. 	3T7E -4 41 	2. 	34--- 	42 

31---  3. 	31-1- -Er, 45 	4. 	44  
174.  Which one of the following state was not 

created on a linguistic basis? 
1. Andhra pradesh 	2. Tamilnadu 
3. Gujarat 	 4. Chhatisgarh 

174. R1 	-4 t 0.-1 TT -Rr \FM' 1-11(11 	3I1R 

-ff-ef .g3ii sg? 1-k fqfkj 
1. 	31-Fra .7-71- 	2. 	OPQ-1-liq, 

3. 	4k-klc-f 	 4. 	"E3M‘)141q 	._ 
175. Which social evil was ended according to 

Article-17 in the constitution? 
1. Child Marriage 	2. Child Labour 
3. Untouchability 	4. Sati Pratha  

175. T=i 	T9 	3t 	-17 	-. 	3iTTIR" 	F+7i 

-4r 04-lInuici-) Vz1 Wr 3T- • f+-<-7-a Tr t? 
1. 	611c1 	 2. 	(.416-  ft-417", 	 33Pi 

3. 	17§c,:iff-us\c1 	4. 	Tit ;f241- 

176. 

• 

Which new denomination currency notes 
have been issued by R.B.I? 
1. z2 	 2. Z200 
3. 22000 	 4. Option 2 & 3 

176. 3TR. 	4). 	3P*. 	gRT t---T .9. 	11-1-1 -. 	-i)t 

• tr ft7 4 1 	t? 
1. Z2 	 2. 2200 
3. 22000 	 4. faWFI2 q 3  

177. Which incentive may be provided by the 
government to set up an industry in a 
backward area? 
1. Subsidy on power 
2. Low transportion cost 
3. Loan at low interest rates 
4. All the above 

177. 

1. TiftTilt 

c-t-) ftt-s51-  a-)-- 	if 3-El'ilT d 4 lir) * 'f -K tkc4-)k 

0,-1 	,-il 	1)c•-ll6.-1 	-. 	1ct)(-1) 	t? 

2. fkL1 LiRc16.1 	Q11,10 

3. 5--9- 	'E,--4 kr( 	q 'I 	t-k ---Zur 

4. 	Li s ) CR1 3.T/11 

178. CITES is 178. CITES 	c.t) 	 
1. An international convention 
2. A currency 
3. A city 
4. An entrance exam 	 • 

• 

	

2. 	 745 -Tql- 

1. 	- c,r) 	3tffkcTzt 	s --1 4-1$41(1 I 

3. Lct) 	"T1-6 

4. cl.) 7471.  titfaiT  
179. 	Whith 	of 	these 	are 	government 	run 

residential schools in rural areas? 
1. Pratibha Schools 
2. Navodaya Vidyalayas 
3. Sarvodaya Vidyalayas 
4. Missionary Schools 

179. •Mitur 1 -1===f 	-4 	.0 	0.-f 	-Nct-)k 	T-71. 	&-)----)* 	A 

-clriN uil 	34FarAT-LT -1-- -11cri 4 V 

1 	VPO'ITT ft-F-674 

2. 	94)-q-z1-  14i104 

3. 	Tiql-TEI RVir-R1 

4. 	1. 1.-01 WIIQRI 
180. 2200 notes bear the signature of which 

person? 
1. Narender Modi

3. 2. Arun jaitley 
3. Urjit Patel 
4. Mahatma Gandhi 

180. 2200.. ‘1)t tH -f .-7T arti * 	;,t-c-tra-i- 	*? 

1. 	.-1.- 	At 	2. 	31- 7 --(3---  

-d-  tr-a--- 	4. 	41610-11 	TITO).  3-ff4 
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